## JS≣

**CURRENCY DERIVATIVES** 

**CURRENCY FUTURES AND OPTIONS DETAILED TURNOVER** 

DATE: 27/02/2018

Johannesburg Stock Exchange

One Exchange Square, Gwen Lane, Sandown, South Africa Private Bag X991174 Sandton 2146

Tel: +27 11 520 7000 Fax: +27 11 520 8584

www.jse.co.za

Registration number: 2005/022939/06

VAT number: 4080119391

Contract	Call/ Put	Strike Buy/ Sell	Number of Contracts	Contract Size	Foreign Value	Price	Spot Rate	ZAR Converted Amount	
Mar 2018 \$ / R									
\$ / R 19/03/2018 Foreign Exchange Future		Buy	1	1,000	1,000.00	11.7016			11,701.60
\$ / R 19/03/2018 Foreign Exchange Future		Buy	1	1,000	1,000.00	11.6260			11,626.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	1	1,000	1,000.00	11.6260			11,626.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	1	1,000	1,000.00	11.7064			11,706.40
\$ / R 19/03/2018 Foreign Exchange Future		Buy	1	1,000	1,000.00	11.6360			11,636.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	1	1,000	1,000.00	11.6012			11,601.20
\$ / R 19/03/2018 Foreign Exchange Future		Sell	1	1,000	1,000.00	11.7064			11,706.40
\$ / R 19/03/2018 Foreign Exchange Future		Sell	1	1,000	1,000.00	11.7016			11,701.60
\$ / R 19/03/2018 Foreign Exchange Future		Buy	1	1,000	1,000.00	11.6012			11,601.20
\$ / R 19/03/2018 Foreign Exchange Future		Sell	2	1,000	2,000.00	11.7500			23,500.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	2	1,000	2,000.00	11.6892			23,378.40
\$ / R 19/03/2018 Foreign Exchange Future		Sell	2	1,000	2,000.00	11.7066			23,413.20
\$ / R 19/03/2018 Foreign Exchange Future		Buy	2	1,000	2,000.00	11.6892			23,378.40
\$ / R 19/03/2018 Foreign Exchange Future		Buy	2	1,000	2,000.00	11.7066			23,413.20

\$ / R 19/03/2018 Foreign Exchange Future	Buy	2	1,000	2,000.00	11.7500	23,500.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	2	1,000	2,000.00	11.6740	23,348.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	2	1,000	2,000.00	11.5682	23,136.40
\$ / R 19/03/2018 Foreign Exchange Future	Sell	2	1,000	2,000.00	11.6740	23,348.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	2	1,000	2,000.00	11.6733	23,346.60
\$ / R 19/03/2018 Foreign Exchange Future	Sell	2	1,000	2,000.00	11.5682	23,136.40
\$ / R 19/03/2018 Foreign Exchange Future	Buy	2	1,000	2,000.00	11.6733	23,346.60
\$ / R 19/03/2018 Foreign Exchange Future	Sell	3	1,000	3,000.00	11.6200	34,860.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	3	1,000	3,000.00	11.6401	34,920.30
\$ / R 19/03/2018 Foreign Exchange Future	Buy	3	1,000	3,000.00	11.7000	35,100.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	3	1,000	3,000.00	11.6200	34,860.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	3	1,000	3,000.00	11.6401	34,920.30
\$ / R 19/03/2018 Foreign Exchange Future	Sell	3	1,000	3,000.00	11.7000	35,100.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	4	1,000	4,000.00	11.7239	46,895.60
\$ / R 19/03/2018 Foreign Exchange Future	Buy	4	1,000	4,000.00	11.7239	46,895.60
\$ / R 19/03/2018 Foreign Exchange Future	Sell	5	1,000	5,000.00	11.7400	58,700.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	5	1,000	5,000.00	11.7000	58,500.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	5	1,000	5,000.00	11.7000	58,500.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	5	1,000	5,000.00	11.6974	58,487.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	5	1,000	5,000.00	11.7400	58,700.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	5	1,000	5,000.00	11.7300	58,650.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	5	1,000	5,000.00	11.7238	58,619.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	5	1,000	5,000.00	11.7238	58,619.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	5	1,000	5,000.00	11.7300	58,650.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	10	1,000	10,000.00	11.6750	116,750.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	10	1,000	10,000.00	11.6437	116,437.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	10	1,000	10,000.00	11.6750	116,750.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	10	1,000	10,000.00	11.6437	116,437.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	10	1,000	10,000.00	11.6010	116,010.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	10	1,000	10,000.00	11.6859	116,859.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	10	1,000	10,000.00	11.6859	116,859.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	10	1,000	10,000.00	11.6089	116,089.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	10	1,000	10,000.00	11.5985	115,985.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	10	1,000	10,000.00	11.6089	116,089.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	10	1,000	10,000.00	11.5985	115,985.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	10	1,000	10,000.00	11.6010	116,010.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	15	1,000	15,000.00	11.7465	176,197.50
\$ / R 19/03/2018 Foreign Exchange Future	Sell	15	1,000	15,000.00	11.7465	176,197.50
\$ / R 19/03/2018 Foreign Exchange Future	Sell	17	1,000	17,000.00	11.7320	199,444.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	17	1,000	17,000.00	11.7320	199,444.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	20	1,000	20,000.00	11.7520	235,040.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	20	1,000	20,000.00	11.7520	235,040.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	25	1,000	25,000.00	11.6317	290,792.50
\$ / R 19/03/2018 Foreign Exchange Future	Buy	25	1,000	25,000.00	11.6066	290,165.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	25	1,000	25,000.00	11.7033	292,582.50
	- ,	-	, - · · ·	-,	,	

Contract	Call/	Strike Buy/	Number of	Contract	Foreign Value	Price	Spot	ZAR	
	Put	Sell	Contracts	Size			Rate	Converted Amount	
\$ / R 19/03/2018 Foreign Exchange Future		Sell	25	1,000	25,000.00	11.7033			292,582.50
\$ / R 19/03/2018 Foreign Exchange Future		Sell	25	1,000	25,000.00	11.7033			292,582.50
\$ / R 19/03/2018 Foreign Exchange Future		Sell	25	1,000	25,000.00	11.6618			291,545.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	25	1,000	25,000.00	11.6616			291,540.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	25	1,000	25,000.00	11.6769			291,922.50
\$ / R 19/03/2018 Foreign Exchange Future		Sell	25	1,000	25,000.00	11.6769			291,922.50
\$ / R 19/03/2018 Foreign Exchange Future		Buy	25	1,000	25,000.00	11.7033			292,582.50
\$ / R 19/03/2018 Foreign Exchange Future		Buy	25	1,000	25,000.00	11.6616			291,540.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	25	1,000	25,000.00	11.6618			291,545.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	25	1,000	25,000.00	11.6317			290,792.50
\$ / R 19/03/2018 Foreign Exchange Future		Sell	25	1,000	25,000.00	11.6066			290,165.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	30	1,000	30,000.00	11.7272			351,816.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	30	1,000	30,000.00	11.6859			350,577.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	45	1,000	45,000.00	11.7033			526,648.50
\$ / R 19/03/2018 Foreign Exchange Future		Sell	45	1,000	45,000.00	11.7033			526,648.50
\$ / R 19/03/2018 Foreign Exchange Future		Sell	45	1,000	45,000.00	11.7033			526,648.50
\$ / R 19/03/2018 Foreign Exchange Future		Buy	45	1,000	45,000.00	11.7033			526,648.50
\$ / R 19/03/2018 Foreign Exchange Future		Buy	50	1,000	50,000.00	11.7498			587,490.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	50	1,000	50,000.00	11.7200			586,000.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	50	1,000	50,000.00	11.7300			586,500.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	50	1,000	50,000.00	11.7498			587,490.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	50	1,000	50,000.00	11.6920			584,600.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	50	1,000	50,000.00	11.6700			583,500.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	50	1,000	50,000.00	11.6859			584,295.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	50	1,000	50,000.00	11.6920			584,600.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	50	1,000	50,000.00	11.6700			583,500.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	50	1,000	50,000.00	11.7200			586,000.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	50	1,000	50,000.00	11.7300			586,500.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	50	1,000	50,000.00	11.6769			583,845.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	55	1,000	55,000.00	11.7033			643,681.50
\$ / R 19/03/2018 Foreign Exchange Future		Sell	55	1,000	55,000.00	11.7033			643,681.50
\$ / R 19/03/2018 Foreign Exchange Future		Sell	65	1,000	65,000.00	11.5942			753,623.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	65	1,000	65,000.00	11.5942			753,623.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	65	1,000	65,000.00	11.5982			753,883.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	70	1,000	70,000.00	11.7033			819,231.00
\$ / R 19/03/2018 Foreign Exchange Future			70	1,000	70,000.00	11.7033			819,231.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy			97,000.00	11.6270			
		Sell	97 100	1,000	100,000.00	11.6800			1,127,819.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell		1,000					1,168,000.00
\$ / R 19/03/2018 Foreign Exchange Future \$ / R 19/03/2018 Foreign Exchange Future		Sell Sell	100 100	1,000 1,000	100,000.00 100,000.00	11.7200 11.6633			1,172,000.00 1,166,330.00

Page 3 of 13 2018/02/27, 07:00:15PM

\$ / R 19/03/2018 Foreign Exchange Future	Sell	100	1,000	100,000.00	11.7469	1,174,690.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	100	1,000	100,000.00	11.6800	1,168,000.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	100	1,000	100,000.00	11.7200	1,172,000.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	100	1,000	100,000.00	11.6200	1,162,000.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	100	1,000	100,000.00	11.6633	1,166,330.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	100	1,000	100,000.00	11.7469	1,174,690.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	100	1,000	100,000.00	11.6200	1,162,000.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	125	1,000	125,000.00	11.6545	1,456,812.50
\$ / R 19/03/2018 Foreign Exchange Future	Sell	125	1,000	125,000.00	11.7712	1,471,400.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	125	1,000	125,000.00	11.6918	1,461,475.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	125	1,000	125,000.00	11.7712	1,471,400.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	125	1,000	125,000.00	11.6545	1,456,812.50
\$ / R 19/03/2018 Foreign Exchange Future	Buy	125	1,000	125,000.00	11.6918	1,461,475.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	133	1,000	133,000.00	11.6022	1,543,092.60
\$ / R 19/03/2018 Foreign Exchange Future	Sell	135	1,000	135,000.00	11.6852	1,577,502.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	135	1,000	135,000.00	11.6852	1,577,502.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	137	1,000	137,000.00	11.6270	1,592,899.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	150	1,000	150,000.00	11.5945	1,739,175.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	150	1,000	150,000.00	11.5945	1,739,175.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	150	1,000	150,000.00	11.6147	1,742,205.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	150	1,000	150,000.00	11.6147	1,742,205.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	150	1,000	150,000.00	11.6859	1,752,885.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	177	1,000	177,000.00	11.6270	2,057,979.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	184	1,000	184,000.00	11.6022	2,134,804.80
\$ / R 19/03/2018 Foreign Exchange Future	Buy	200	1,000	200,000.00	11.5483	2,309,660.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	200	1,000	200,000.00	11.5869	2,317,380.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	200	1,000	200,000.00	11.5483	2,309,660.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	200	1,000	200,000.00	11.5869	2,317,380.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	200	1,000	200,000.00	11.6962	2,339,240.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	200	1,000	200,000.00	11.6962	2,339,240.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	210	1,000	210,000.00	11.7272	2,462,712.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	215	1,000	215,000.00	11.6270	2,499,805.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	220	1,000	220,000.00	11.7272	2,579,984.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	250	1,000	250,000.00	11.6973	2,924,325.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	250	1,000	250,000.00	11.6973	2,924,325.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	250	1,000	250,000.00	11.6859	2,921,475.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	250	1,000	250,000.00	11.6053	2,901,325.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	250	1,000	250,000.00	11.6053	2,901,325.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	280	1,000	280,000.00	11.5867	3,244,276.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	280	1,000	280,000.00	11.7239	3,282,692.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	280	1,000	280,000.00	11.7239	3,282,692.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	280	1,000	280,000.00	11.5867	3,244,276.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	300	1,000	300,000.00	11.6678	3,500,340.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	300	1,000	300,000.00	11.5940	3,478,200.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	300	1,000	300,000.00	11.5982	3,479,460.00

Contract	Call/	Strike Buy/	Number of	Contract	Foreign Value	Price	Spot	ZAR	
	Put	Sell	Contracts	Size			Rate	Converted	
								Amount	
\$ / R 19/03/2018 Foreign Exchange Future		Sell	300	1,000	300,000.00	11.5801			3,474,030.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	316	1,000	316,000.00	11.7100			3,700,360.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	330	1,000	330,000.00	11.7272			3,869,976.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	345	1,000	345,000.00	11.6116			4,006,002.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	345	1,000	345,000.00	11.6116			4,006,002.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	350	1,000	350,000.00	11.6475			4,076,625.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	350	1,000	350,000.00	11.7750			4,121,250.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	350	1,000	350,000.00	11.6475			4,076,625.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	365	1,000	365,000.00	11.7033			4,271,704.50
\$ / R 19/03/2018 Foreign Exchange Future		Buy	365	1,000	365,000.00	11.7033			4,271,704.50
\$ / R 19/03/2018 Foreign Exchange Future		Sell	374	1,000	374,000.00	11.6270			4,348,498.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	400	1,000	400,000.00	11.5888			4,635,520.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	400	1,000	400,000.00	11.5888			4,635,520.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	485	1,000	485,000.00	11.6295			5,640,307.50
\$ / R 19/03/2018 Foreign Exchange Future		Sell	500	1,000	500,000.00	11.5878			5,793,900.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	500	1,000	500,000.00	11.6090			5,804,500.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	500	1,000	500,000.00	11.6958			5,847,900.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	500	1,000	500,000.00	11.7503			5,875,150.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	500	1,000	500,000.00	11.6603			5,830,150.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	500	1,000	500,000.00	11.6859			5,842,950.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	500	1,000	500,000.00	11.7228			5,861,400.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	500	1,000	500,000.00	11.6612			5,830,600.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	500	1,000	500,000.00	11.6796			5,839,800.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	500	1,000	500,000.00	11.6443			5,822,150.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	500	1,000	500,000.00	11.6958			5,847,900.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	500	1,000	500,000.00	11.6900			5,845,000.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	500	1,000	500,000.00	11.7050			5,852,500.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	500	1,000	500,000.00	11.7100			5,855,000.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	500	1,000	500,000.00	11.6612			5,830,600.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	500	1,000	500,000.00	11.6603			5,830,150.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	500	1,000	500,000.00	11.6796			5,839,800.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	500	1,000	500,000.00	11.6443			5,822,150.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	500	1,000	500,000.00	11.6909			5,845,450.00
\$ / R 19/03/2018 Foreign Exchange Future		-	500	1,000	500,000.00	11.7503			5,845,450.00
		Buy				11.7228			
\$ / R 19/03/2018 Foreign Exchange Future		Sell	500	1,000	500,000.00				5,861,400.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	500	1,000	500,000.00	11.7050			5,852,500.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	500	1,000	500,000.00	11.6090			5,804,500.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	500	1,000	500,000.00	11.5978			5,798,900.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	500	1,000	500,000.00	11.5978			5,798,900.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	500	1,000	500,000.00	11.5878			5,793,900.00

Page 5 of 13 2018/02/27, 07:00:15PM

\$ / R 19/03/2018 Foreign Exchange Future	Buy	500	1,000	500,000.00	11.7020	5,851,000.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	500	1,000	500,000.00	11.6712	5,835,600.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	500	1,000	500,000.00	11.6712	5,835,600.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	582	1,000	582,000.00	11.6223	6,764,178.60
\$ / R 19/03/2018 Foreign Exchange Future	Buy	600	1,000	600,000.00	11.6240	6,974,400.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	600	1,000	600,000.00	11.5961	6,957,660.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	630	1,000	630,000.00	11.6933	7,366,779.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	685	1,000	685,000.00	11.6295	7,966,207.50
\$ / R 19/03/2018 Foreign Exchange Future	Buy	750	1,000	750,000.00	11.5978	8,698,350.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	750	1,000	750,000.00	11.5978	8,698,350.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	776	1,000	776,000.00	11.6745	9,059,412.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	790	1,000	790,000.00	11.7272	9,264,488.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	822	1,000	822,000.00	11.6223	9,553,530.60
\$ / R 19/03/2018 Foreign Exchange Future	Sell	885	1,000	885,000.00	11.6295	10,292,107.50
\$ / R 19/03/2018 Foreign Exchange Future	Sell	1,000	1,000	1,000,000.00	11.5628	11,562,800.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	1,000	1,000	1,000,000.00	11.6457	11,645,700.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	1,000	1,000	1,000,000.00	11.5628	11,562,800.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	1,000	1,000	1,000,000.00	11.7667	11,766,700.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	1,000	1,000	1,000,000.00	11.6457	11,645,700.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	1,000	1,000	1,000,000.00	11.5930	11,593,000.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	1,000	1,000	1,000,000.00	11.5933	11,593,300.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	1,000	1,000	1,000,000.00	11.5930	11,593,000.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	1,000	1,000	1,000,000.00	11.5933	11,593,300.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	1,000	1,000	1,000,000.00	11.7667	11,766,700.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	1,062	1,000	1,062,000.00	11.6223	12,342,882.60
\$ / R 19/03/2018 Foreign Exchange Future	Sell	1,075	1,000	1,075,000.00	11.6295	12,501,712.50
\$ / R 19/03/2018 Foreign Exchange Future	Buy	1,096	1,000	1,096,000.00	11.6745	12,795,252.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	1,290	1,000	1,290,000.00	11.6223	14,992,767.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	1,416	1,000	1,416,000.00	11.6745	16,531,092.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	1,500	1,000	1,500,000.00	11.5978	17,396,700.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	1,500	1,000	1,500,000.00	11.5978	17,396,700.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	1,720	1,000	1,720,000.00	11.6745	20,080,140.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	1,800	1,000	1,800,000.00	11.5983	20,876,940.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	1,800	1,000	1,800,000.00	11.5983	20,876,940.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	1,870	1,000	1,870,000.00	11.6295	21,747,165.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	2,000	1,000	2,000,000.00	11.6745	23,349,000.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	2,000	1,000	2,000,000.00	11.5933	23,186,600.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	2,000	1,000	2,000,000.00	11.5725	23,145,000.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	2,000	1,000	2,000,000.00	11.5725	23,145,000.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	2,000	1,000	2,000,000.00	11.5933	23,186,600.00
\$ / R 19/03/2018 Foreign Exchange Future	Buy	2,244	1,000	2,244,000.00	11.6223	26,080,441.20
\$ / R 19/03/2018 Foreign Exchange Future	Buy	2,251	1,000	2,251,000.00	11.6022	26,116,552.20
\$ / R 19/03/2018 Foreign Exchange Future	Buy	2,500	1,000	2,500,000.00	11.6207	29,051,750.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	2,500	1,000	2,500,000.00	11.6207	29,051,750.00
\$ / R 19/03/2018 Foreign Exchange Future	Sell	2,568	1,000	2,568,000.00	11.6022	29,794,449.60

Contract	Call/ Put	Strike Buy/ Sell	Number of Contracts	Contract Size	Foreign Value	Price	Spot Rate	ZAR Converted Amount	
\$ / R 19/03/2018 Foreign Exchange Future		Sell	2,577	1,000	2,577,000.00	11.6683			30,069,209.10
\$ / R 19/03/2018 Foreign Exchange Future		Buy	2,577	1,000	2,577,000.00	11.6683			30,069,209.10
\$ / R 19/03/2018 Foreign Exchange Future		Sell	2,816	1,000	2,816,000.00	11.7031			32,955,929.60
\$ / R 19/03/2018 Foreign Exchange Future		Buy	2,992	1,000	2,992,000.00	11.6745			34,930,104.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	3,000	1,000	3,000,000.00	11.6270			34,881,000.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	3,000	1,000	3,000,000.00	11.6223			34,866,900.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	3,500	1,000	3,500,000.00	11.7300			41,055,000.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	4,000	1,000	4,000,000.00	11.6270			46,508,000.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	4,000	1,000	4,000,000.00	11.5983			46,393,200.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	4,000	1,000	4,000,000.00	11.5709			46,283,600.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	5,000	1,000	5,000,000.00	11.6140			58,070,000.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	5,000	1,000	5,000,000.00	11.6140			58,070,000.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	5,000	1,000	5,000,000.00	11.6295			58,147,500.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	6,500	1,000	6,500,000.00	11.7300			76,245,000.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	6,500	1,000	6,500,000.00	11.7300			76,245,000.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	9,000	1,000	9,000,000.00	11.6223			104,600,700.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	10,000	1,000	10,000,000.00	11.6552			116,552,000.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	10,000	1,000	10,000,000.00	11.6745			116,745,000.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	10,000	1,000	10,000,000.00	11.6161			116,161,000.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	10,000	1,000	10,000,000.00	11.6161			116,161,000.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	10,000	1,000	10,000,000.00	11.7250			117,250,000.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	15,000	1,000	15,000,000.00	11.6870			175,305,000.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	15,000	1,000	15,000,000.00	11.6870			175,305,000.00
\$ / R 19/03/2018 Foreign Exchange Future	Р	13.00 Sell	15,000	1,000	15,000,000.00	1303.3000			19,549,500,000.00
\$ / R 19/03/2018 Foreign Exchange Future	Р	13.00 Buy	15,000	1,000	15,000,000.00	1311.9200			19,678,800,000.00
\$ / R 19/03/2018 Foreign Exchange Future	Р	13.00 Buy	15,000	1,000	15,000,000.00	1303.3000			19,549,500,000.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	16,500	1,000	16,500,000.00	11.5648			190,819,200.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	16,500	1,000	16,500,000.00	11.5648			190,819,200.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	16,500	1,000	16,500,000.00	11.5648			190,819,200.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	25,000	1,000	25,000,000.00	11.6772			291,930,000.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	25,000	1,000	25,000,000.00	11.6772			291,930,000.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	25,000	1,000	25,000,000.00	11.6752			291,880,000.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	26,500	1,000	26,500,000.00	11.5648			306,467,200.00
\$ / R 19/03/2018 Foreign Exchange Future		Sell	26,500	1,000	26,500,000.00	11.5648			306,467,200.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	26,500	1,000	26,500,000.00	11.5648			306,467,200.00
\$ / R 19/03/2018 Foreign Exchange Future		Buy	43,000	1,000	43,000,000.00	11.5648			497,286,400.00

Total Futures		482,675		482,675,000.00		5,610,966,176.40
Total Options		45,000		45,000,000		58,777,800,000.00
Total \$ / R Foreign Exchange Future		527,675		527,675,000.00		64,388,766,176.40
Mar 2018 £/R						
£ / R 19/03/2018 Foreign Exchange Future	Buy	5	1,000	5,000.00	16.2988	81,494.00
£ / R 19/03/2018 Foreign Exchange Future	Sell	5	1,000	5,000.00	16.2988	81,494.00
£ / R 19/03/2018 Foreign Exchange Future	Sell	10	1,000	10,000.00	16.2257	162,257.00
£ / R 19/03/2018 Foreign Exchange Future	Buy	10	1,000	10,000.00	16.2257	162,257.00
£ / R 19/03/2018 Foreign Exchange Future	Buy	15	1,000	15,000.00	16.2332	243,498.00
£ / R 19/03/2018 Foreign Exchange Future	Sell	15	1,000	15,000.00	16.2332	243,498.00
£ / R 19/03/2018 Foreign Exchange Future	Buy	90	1,000	90,000.00	16.2764	1,464,876.00
£ / R 19/03/2018 Foreign Exchange Future	Sell	90	1,000	90,000.00	16.2829	1,465,461.00
£ / R 19/03/2018 Foreign Exchange Future	Sell	90	1,000	90,000.00	16.2764	1,464,876.00
£ / R 19/03/2018 Foreign Exchange Future	Buy	90	1,000	90,000.00	16.2829	1,465,461.00
£ / R 19/03/2018 Foreign Exchange Future	Buy	300	1,000	300,000.00	16.3019	4,890,570.00
£ / R 19/03/2018 Foreign Exchange Future	Sell	300	1,000	300,000.00	16.3019	4,890,570.00
£ / R 19/03/2018 Foreign Exchange Future	Sell	500	1,000	500,000.00	16.3105	8,155,250.00
£ / R 19/03/2018 Foreign Exchange Future	Buy	500	1,000	500,000.00	16.3105	8,155,250.00
Total Futures		2,020		2,020,000.00		32,926,812.00
Total Options						
Total £ / R Foreign Exchange Future		2,020		2,020,000.00		32,926,812.00
Mar 2018   € / R						
€ / R 19/03/2018 Foreign Exchange Future	Sell	1	1,000	1,000.00	14.4189	14,418.90
€ / R 19/03/2018 Foreign Exchange Future	Buy	1	1,000	1,000.00	14.4189	14,418.90
€ / R 19/03/2018 Foreign Exchange Future	Buy	5	1,000	5,000.00	14.3163	71,581.50
€ / R 19/03/2018 Foreign Exchange Future	Buy	5	1,000	5,000.00	14.3172	71,586.00
€ / R 19/03/2018 Foreign Exchange Future	Buy	10	1,000	10,000.00	14.4250	144,250.00
€ / R 19/03/2018 Foreign Exchange Future	Sell	10	1,000	10,000.00	14.3167	143,167.00
€ / R 19/03/2018 Foreign Exchange Future	Buy	10	1,000	10,000.00	14.3909	143,909.00
€ / R 19/03/2018 Foreign Exchange Future	Sell	10	1,000	10,000.00	14.4250	144,250.00
€ / R 19/03/2018 Foreign Exchange Future	Sell	10	1,000	10,000.00	14.3909	143,909.00
€ / R 19/03/2018 Foreign Exchange Future	Buy	15	1,000	15,000.00	14.4126	216,189.00
€ / R 19/03/2018 Foreign Exchange Future	Sell	15	1,000	15,000.00	14.4126	216,189.00
€ / R 19/03/2018 Foreign Exchange Future	Buy	20	1,000	20,000.00	14.3965	287,930.00
€ / R 19/03/2018 Foreign Exchange Future	Sell	20	1,000	20,000.00	14.3965	287,930.00
€ / R 19/03/2018 Foreign Exchange Future	Sell	40	1,000	40,000.00	14.3400	573,600.00
€ / R 19/03/2018 Foreign Exchange Future	0011	10	.,500	. 5,555.55		0,000.00
	Buv	40	1.000	40.000.00	14.3400	573.600 00
€ / R 19/03/2018 Foreign Exchange Future	Buy Sell	40 50	1,000 1,000	40,000.00 50,000.00	14.3400 14.5066	573,600.00 725,330.00

Buy Buy				
Buv			9	/03/2018 Foreign Exchange Future
,			e	/03/2018 Foreign Exchange Future
Sell			e	/03/2018 Foreign Exchange Future
Sell			e	/03/2018 Foreign Exchange Future
Buy			e	/03/2018 Foreign Exchange Future
Sell			e	/03/2018 Foreign Exchange Future
Buy			e	/03/2018 Foreign Exchange Future
Sell			e	/03/2018 Foreign Exchange Future
Buy			e	/03/2018 Foreign Exchange Future
Sell			e	/03/2018 Foreign Exchange Future
Buy			e	/03/2018 Foreign Exchange Future
Buy			9	/03/2018 Foreign Exchange Future
Sell			9	/03/2018 Foreign Exchange Future
Sell			9	/03/2018 Foreign Exchange Future
Buy			9	/03/2018 Foreign Exchange Future
		otal Futures		
		otal Options		
 		ange Future	€ / R Foreign Ex	Total € / R
				018 QUANTO€/\$
Buy			nge Future	O € / \$ 19/03/2018 Foreign Exchange Fu
Sell			nge Future	O € / \$ 19/03/2018 Foreign Exchange Fu
		otal Futures		
		otal Options		
 		ange Future	€/\$ Foreign Ex	Total QUANTO € / \$
				018 \$/R
11 66 Buy	C			
•				/03/2018 Any day expiry
				/03/2018 Any day expiry /03/2018 Any day expiry
-				
-				/03/2018 Any day expiry
-				/03/2018 Any day expiry
•	C			/03/2018 Any day expiry
				/03/2018 Any day expiry /03/2018 Any day expiry
Sell Buy Sell Buy Sell Sell Suy		otal Options ange Future otal Futures otal Options ange Future	e e e e e e e e e e e e e e e e e e e	e Future  Total € / R  Exchange Fu

\$ / R 28/03/2018 Any day expiry	С	11.66 Buy	32,500	1,000	32,500,000.00	216.2305	7,027,491,250.00
\$ / R 28/03/2018 Any day expiry	C	11.66 Sell	47,500	1,000	47,500,000.00	216.2305	10,270,948,750.00
	Total Futures		52,000		52,000,000.00		609,440,000.00
	Total Options		100,000		100,000,000		21,623,050,000.00
	Total \$ / R Any day expiry		152,000		152,000,000.00		22,232,490,000.00
Apr 2018							
\$ / R 06/04/2018 Any day expiry	С	11.61 Buy	1,000	1,000	1,000,000.00	258.4669	258,466,900.00
\$ / R 06/04/2018 Any day expiry	С	11.61 Buy	1,600	1,000	1,600,000.00	258.4669	413,547,040.00
\$ / R 06/04/2018 Any day expiry	С	11.61 Buy	1,600	1,000	1,600,000.00	258.4669	413,547,040.00
\$ / R 06/04/2018 Any day expiry	С	11.61 Buy	1,800	1,000	1,800,000.00	258.4669	465,240,420.00
\$ / R 06/04/2018 Any day expiry	С	11.61 Buy	5,000	1,000	5,000,000.00	258.4669	1,292,334,500.00
\$ / R 06/04/2018 Any day expiry	С	11.61 Sell	6,000	1,000	6,000,000.00	258.4669	1,550,801,400.00
\$ / R 06/04/2018 Any day expiry	С	11.61 Buy	6,000	1,000	6,000,000.00	258.4669	1,550,801,400.00
\$ / R 06/04/2018 Any day expiry	С	11.61 Buy	8,000	1,000	8,000,000.00	258.4669	2,067,735,200.00
\$ / R 06/04/2018 Any day expiry	C	11.61 Buy	8,000	1,000	8,000,000.00	258.4669	2,067,735,200.00
\$ / R 06/04/2018 Any day expiry	С	11.61 Buy	9,000	1,000	9,000,000.00	258.4669	2,326,202,100.00
\$ / R 06/04/2018 Any day expiry	C	11.61 Buy	13,000	1,000	13,000,000.00	258.4669	3,360,069,700.00
\$ / R 06/04/2018 Any day expiry		Buy	19,000	1,000	19,000,000.00	11.7490	223,231,000.00
\$ / R 06/04/2018 Any day expiry		Sell	19,000	1,000	19,000,000.00	11.7490	223,231,000.00
\$ / R 06/04/2018 Any day expiry		Buy	55,000	1,000	55,000,000.00	11.6395	640,172,500.00
\$ / R 06/04/2018 Any day expiry		Sell	55,000	1,000	55,000,000.00	11.6395	640,172,500.00
\$ / R 06/04/2018 Any day expiry	С	11.61 Buy	65,000	1,000	65,000,000.00	258.4669	16,800,348,500.00
\$ / R 06/04/2018 Any day expiry	С	11.61 Sell	114,000	1,000	114,000,000.00	258.4669	29,465,226,600.00
	Total Futures		148,000		148,000,000.00		1,726,807,000.00
	Total Options		240,000		240,000,000		62,032,056,000.00
	Total \$ / R Any day expiry		388,000		388,000,000.00		63,758,863,000.00
Jun 2018							
\$ / R 18/06/2018 Foreign Exchange Future		Sell	1	1,000	1,000.00	11.7979	11,797.90
\$ / R 18/06/2018 Foreign Exchange Future		Sell	1	1,000	1,000.00	11.7979	11,797.90
\$ / R 18/06/2018 Foreign Exchange Future		Buy	2	1,000	2,000.00	11.7979	23,595.80
\$ / R 18/06/2018 Foreign Exchange Future		Sell	5	1,000	5,000.00	11.7969	58,984.50
\$ / R 18/06/2018 Foreign Exchange Future		Buy	5	1,000	5,000.00	11.7969	58,984.50
\$ / R 18/06/2018 Foreign Exchange Future		Sell	6	1,000	6,000.00	11.7497	70,498.20
\$ / R 18/06/2018 Foreign Exchange Future		Buy	6	1,000	6,000.00	11.7497	70,498.20
\$ / R 18/06/2018 Foreign Exchange Future		Buy	10	1,000	10,000.00	11.7810	117,810.00
\$ / R 18/06/2018 Foreign Exchange Future		Sell	10	1,000	10,000.00	11.7810	117,810.00
\$ / R 18/06/2018 Foreign Exchange Future		Sell	25	1,000	25,000.00	11.7682	294,205.00
\$ / R 18/06/2018 Foreign Exchange Future		Buy	25	1,000	25,000.00	11.7682	294,205.00

Contract	Call/ Put	Strike Buy/ Sell	Number of Contracts	Contract Size	Foreign Value	Price	Spot Rate	ZAR Converted	
	i ut	OCII	Contracts	OIZC			Nuto	Amount	
\$ / R 18/06/2018 Foreign Exchange Future		Sell	50	1,000	50,000.00	11.8191			590,955.00
\$ / R 18/06/2018 Foreign Exchange Future		Sell	50	1,000	50,000.00	11.7791			588,955.00
\$ / R 18/06/2018 Foreign Exchange Future		Buy	50	1,000	50,000.00	11.7791			588,955.00
\$ / R 18/06/2018 Foreign Exchange Future		Buy	50	1,000	50,000.00	11.8191			590,955.00
\$ / R 18/06/2018 Foreign Exchange Future	С	11.70 Buy	60	1,000	60,000.00	413.6712			24,820,272.00
\$ / R 18/06/2018 Foreign Exchange Future	С	11.70 Sell	60	1,000	60,000.00	413.6712			24,820,272.00
\$ / R 18/06/2018 Foreign Exchange Future	С	15.50 Sell	110	1,000	110,000.00	2.4218			266,398.00
\$ / R 18/06/2018 Foreign Exchange Future	С	15.50 Buy	110	1,000	110,000.00	2.4218			266,398.00
\$ / R 18/06/2018 Foreign Exchange Future	Р	13.50 Buy	110	1,000	110,000.00	1779.8267			195,780,937.00
\$ / R 18/06/2018 Foreign Exchange Future	Р	13.50 Sell	110	1,000	110,000.00	1779.8267			195,780,937.00
\$ / R 18/06/2018 Foreign Exchange Future	Р	12.50 Sell	110	1,000	110,000.00	884.8788			97,336,668.00
\$ / R 18/06/2018 Foreign Exchange Future	Р	12.50 Buy	110	1,000	110,000.00	884.8788			97,336,668.00
\$ / R 18/06/2018 Foreign Exchange Future		Sell	250	1,000	250,000.00	11.7602			2,940,050.00
\$ / R 18/06/2018 Foreign Exchange Future		Sell	250	1,000	250,000.00	11.8060			2,951,500.00
\$ / R 18/06/2018 Foreign Exchange Future		Buy	250	1,000	250,000.00	11.8060			2,951,500.00
\$ / R 18/06/2018 Foreign Exchange Future		Buy	250	1,000	250,000.00	11.7602			2,940,050.00
\$ / R 18/06/2018 Foreign Exchange Future		Sell	285	1,000	285,000.00	11.8400			3,374,400.00
\$ / R 18/06/2018 Foreign Exchange Future		Buy	285	1,000	285,000.00	11.8400			3,374,400.00
\$ / R 18/06/2018 Foreign Exchange Future		Sell	300	1,000	300,000.00	11.7621			3,528,630.00
\$ / R 18/06/2018 Foreign Exchange Future		Sell	400	1,000	400,000.00	11.8164			4,726,560.00
\$ / R 18/06/2018 Foreign Exchange Future		Sell	480	1,000	480,000.00	11.8158			5,671,584.00
\$ / R 18/06/2018 Foreign Exchange Future		Sell	800	1,000	800,000.00	11.8066			9,445,280.00
\$ / R 18/06/2018 Foreign Exchange Future		Sell	1,000	1,000	1,000,000.00	11.8228			11,822,800.00
\$ / R 18/06/2018 Foreign Exchange Future		Sell	1,000	1,000	1,000,000.00	11.7699			11,769,900.00
\$ / R 18/06/2018 Foreign Exchange Future		Sell	1,000	1,000	1,000,000.00	11.7781			11,778,100.00
\$ / R 18/06/2018 Foreign Exchange Future		Sell	1,000	1,000	1,000,000.00	11.7845			11,784,500.00
\$ / R 18/06/2018 Foreign Exchange Future		Buy	1,757	1,000	1,757,000.00	11.8346			20,793,392.20
\$ / R 18/06/2018 Foreign Exchange Future		Sell	1,757	1,000	1,757,000.00	11.8346			20,793,392.20
\$ / R 18/06/2018 Foreign Exchange Future		Sell	2,000	1,000	2,000,000.00	11.7595			23,519,000.00
\$ / R 18/06/2018 Foreign Exchange Future		Buy	7,980	1,000	7,980,000.00	11.7852			94,045,896.00
	Total Futures		21,340		21,340,000.00				251,700,941.40
	Total Options		780		780,000				636,408,550.00
Total \$ / R Fore	eign Exchange Future		22,120		22,120,000.00				888,109,491.40
Jun 2018 €/R									
€ / R 18/06/2018 Foreign Exchange Future	С	18.61 Sell	135	1,000	135,000.00	10.3200			1,393,200.00
€ / R 18/06/2018 Foreign Exchange Future	C	18.61 Buy	135	1,000	135,000.00	10.3200			1,393,200.00
C/TC 10/00/2010 1 oreign Exchange Luture	O .	10.01 Buy	133	1,000	100,000.00	10.3200			1,090,200.00

€ / R 18/06/2018 Foreign Exchange Future	С	18.61 Sell	135	1,000	135,000.00	10.3200	1,393,200.00
€ / R 18/06/2018 Foreign Exchange Future	Р	16.44 Buy	135	1,000	135,000.00	1798.1000	242,743,500.00
€ / R 18/06/2018 Foreign Exchange Future	Р	13.97 Sell	135	1,000	135,000.00	168.8900	22,800,150.00
€ / R 18/06/2018 Foreign Exchange Future	Р	16.44 Sell	135	1,000	135,000.00	1788.1000	241,393,500.00
€ / R 18/06/2018 Foreign Exchange Future	Р	16.44 Buy	135	1,000	135,000.00	1788.1000	241,393,500.00
€ / R 18/06/2018 Foreign Exchange Future	Р	13.97 Buy	135	1,000	135,000.00	168.8900	22,800,150.00
€ / R 18/06/2018 Foreign Exchange Future	Р	16.44 Buy	135	1,000	135,000.00	1798.1000	242,743,500.00
€ / R 18/06/2018 Foreign Exchange Future	P	13.97 Sell	135	1,000	135,000.00	168.8900	22,800,150.00
€ / R 18/06/2018 Foreign Exchange Future		Sell	505	1,000	505,000.00	14.6965	7,421,732.50
€ / R 18/06/2018 Foreign Exchange Future		Buy	505	1,000	505,000.00	14.6965	7,421,732.50
€ / R 18/06/2018 Foreign Exchange Future		Sell	505	1,000	505,000.00	14.6985	7,422,742.50
	Total Futures		1,515		1,515,000.00		22,266,207.50
	Total Options		1,350		1,350,000		1,040,854,050.00
Total € / R Fore	gn Exchange Future		2,865		2,865,000.00		1,063,120,257.50
lum 2040 ALIC / D							
Jun 2018 AU\$ / R							
AU\$ / R 18/06/2018 Foreign Exchange Future		Sell	20	1,000	20,000.00	9.2612	185,224.00
AU\$ / R 18/06/2018 Foreign Exchange Future		Buy	20	1,000	20,000.00	9.2612	185,224.00
	Total Futures		40		40,000.00		370,448.00
	Total Options						
Total AU\$ / R Fore	an Exchange Future		40		40,000.00		370,448.00
	J J		40		40,000.00		,
	<b>3</b>						
Jun 2018 TRY / R					40,000.00		
Jun 2018 TRY / R  TRY / R 18/06/2018 Foreign Exchange Future		Sell	40	1,000	40,000.00	3.0299	121,196.00
		Sell Sell		1,000 1,000		3.0299 3.0330	
TRY / R 18/06/2018 Foreign Exchange Future			40		40,000.00		121,196.00
TRY / R 18/06/2018 Foreign Exchange Future TRY / R 18/06/2018 Foreign Exchange Future		Sell	40 100	1,000	40,000.00 100,000.00	3.0330	121,196.00 303,300.00
TRY / R 18/06/2018 Foreign Exchange Future TRY / R 18/06/2018 Foreign Exchange Future TRY / R 18/06/2018 Foreign Exchange Future		Sell Sell	40 100 100	1,000 1,000	40,000.00 100,000.00 100,000.00	3.0330 3.0327	121,196.00 303,300.00 303,270.00
TRY / R 18/06/2018 Foreign Exchange Future		Sell Sell Sell	40 100 100 100	1,000 1,000 1,000	40,000.00 100,000.00 100,000.00 100,000.00	3.0330 3.0327 3.0298	121,196.00 303,300.00 303,270.00 302,980.00
TRY / R 18/06/2018 Foreign Exchange Future		Sell Sell Sell Sell	40 100 100 100 100	1,000 1,000 1,000 1,000	40,000.00 100,000.00 100,000.00 100,000.00 100,000.00	3.0330 3.0327 3.0298 3.0298	121,196.00 303,300.00 303,270.00 302,980.00 302,980.00
TRY / R 18/06/2018 Foreign Exchange Future		Sell Sell Sell Sell	40 100 100 100 100 100	1,000 1,000 1,000 1,000 1,000	40,000.00 100,000.00 100,000.00 100,000.00 100,000.00	3.0330 3.0327 3.0298 3.0298 3.0298	121,196.00 303,300.00 303,270.00 302,980.00 302,980.00 302,980.00
TRY / R 18/06/2018 Foreign Exchange Future		Sell Sell Sell Sell Sell	40 100 100 100 100 100 100	1,000 1,000 1,000 1,000 1,000 1,000	40,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00	3.0330 3.0327 3.0298 3.0298 3.0298 3.0297	121,196.00 303,300.00 303,270.00 302,980.00 302,980.00 302,980.00 302,970.00
TRY / R 18/06/2018 Foreign Exchange Future		Sell Sell Sell Sell Sell Sell	40 100 100 100 100 100 100	1,000 1,000 1,000 1,000 1,000 1,000	40,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00	3.0330 3.0327 3.0298 3.0298 3.0298 3.0297 3.0294	121,196.00 303,300.00 303,270.00 302,980.00 302,980.00 302,980.00 302,970.00 302,940.00
TRY / R 18/06/2018 Foreign Exchange Future		Sell Sell Sell Sell Sell Sell Sell Sell	40 100 100 100 100 100 100 100	1,000 1,000 1,000 1,000 1,000 1,000 1,000	40,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00	3.0330 3.0327 3.0298 3.0298 3.0298 3.0297 3.0294 3.0297	121,196.00 303,300.00 303,270.00 302,980.00 302,980.00 302,980.00 302,970.00 302,970.00
TRY / R 18/06/2018 Foreign Exchange Future		Sell Sell Sell Sell Sell Sell Sell Sell	40 100 100 100 100 100 100 100 100	1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000	40,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00	3.0330 3.0327 3.0298 3.0298 3.0298 3.0297 3.0294 3.0297 3.0316	121,196.00 303,300.00 303,270.00 302,980.00 302,980.00 302,980.00 302,970.00 302,940.00 302,970.00 303,160.00
TRY / R 18/06/2018 Foreign Exchange Future		Sell Sell Sell Sell Sell Sell Sell Sell	40 100 100 100 100 100 100 100 100 100	1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000	40,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00	3.0330 3.0327 3.0298 3.0298 3.0298 3.0297 3.0294 3.0297 3.0316 3.0325	121,196.00 303,300.00 303,270.00 302,980.00 302,980.00 302,980.00 302,970.00 302,970.00 302,970.00 303,160.00 303,250.00
TRY / R 18/06/2018 Foreign Exchange Future		Sell Sell Sell Sell Sell Sell Sell Sell	40 100 100 100 100 100 100 100 100 100 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000	40,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00	3.0330 3.0327 3.0298 3.0298 3.0298 3.0297 3.0294 3.0297 3.0316 3.0325 3.0326	121,196.00 303,300.00 303,270.00 302,980.00 302,980.00 302,980.00 302,970.00 302,970.00 302,970.00 303,160.00 303,250.00 303,260.00
TRY / R 18/06/2018 Foreign Exchange Future		Sell Sell Sell Sell Sell Sell Sell Sell	40 100 100 100 100 100 100 100 100 100 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000	40,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00	3.0330 3.0327 3.0298 3.0298 3.0298 3.0297 3.0294 3.0297 3.0316 3.0325 3.0326 3.0295	121,196.00 303,300.00 303,270.00 302,980.00 302,980.00 302,980.00 302,970.00 302,940.00 302,970.00 303,160.00 303,250.00 302,950.00
TRY / R 18/06/2018 Foreign Exchange Future		Sell Sell Sell Sell Sell Sell Sell Sell	40 100 100 100 100 100 100 100 100 100 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000	40,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00	3.0330 3.0327 3.0298 3.0298 3.0297 3.0294 3.0297 3.0316 3.0325 3.0326 3.0295 3.0297	121,196.00 303,300.00 303,270.00 302,980.00 302,980.00 302,970.00 302,970.00 302,970.00 303,160.00 303,260.00 302,950.00 302,970.00
TRY / R 18/06/2018 Foreign Exchange Future		Sell Sell Sell Sell Sell Sell Sell Sell	40 100 100 100 100 100 100 100 100 100 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000	40,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00 100,000.00	3.0330 3.0327 3.0298 3.0298 3.0298 3.0297 3.0294 3.0297 3.0316 3.0325 3.0326 3.0295 3.0297 3.0296	121,196.00 303,300.00 303,270.00 302,980.00 302,980.00 302,970.00 302,970.00 302,970.00 303,160.00 303,250.00 302,950.00 302,970.00 302,970.00 303,260.00 302,970.00 302,970.00 302,970.00 302,970.00 302,960.00

Contract	Call/ Put	Strike Buy/ Sell	Number of Contracts	Contract Size	Foreign Value	Price	Spot Rate	ZAR Converted Amount	
TRY / R 18/06/2018 Foreign Exchange Future		Buy	600	1,000	600,000.00	3.0302			1,818,120.00
TRY / R 18/06/2018 Foreign Exchange Future		Buy	840	1,000	840,000.00	3.0310			2,546,040.00
	Total Futures		3,680		3,680,000.00				11,151,976.00
	<b>Total Options</b>								
Total TRY / R Foreign Exchange Future			3,680		3,680,000.00				11,151,976.00
Sep 2018 \$ / R									
\$ / R 17/09/2018 Foreign Exchange Future	Р	11.85 Buy	628	1,000	628,000.00	528.2100			331,715,880.00
\$ / R 17/09/2018 Foreign Exchange Future	Р	11.85 Buy	2,196	1,000	2,196,000.00	528.2100			1,159,949,160.00
\$ / R 17/09/2018 Foreign Exchange Future	Р	11.85 Buy	2,405	1,000	2,405,000.00	528.2100			1,270,345,050.00
\$ / R 17/09/2018 Foreign Exchange Future	Р	11.85 Buy	3,309	1,000	3,309,000.00	528.2100			1,747,846,890.00
\$ / R 17/09/2018 Foreign Exchange Future	Р	11.85 Buy	5,608	1,000	5,608,000.00	528.2100			2,962,201,680.00
\$ / R 17/09/2018 Foreign Exchange Future	Р	11.85 Buy	34,054	1,000	34,054,000.00	528.2100			17,987,663,340.00
\$ / R 17/09/2018 Foreign Exchange Future	Р	11.50 Buy	45,000	1,000	45,000,000.00	346.8200			15,606,900,000.00
\$ / R 17/09/2018 Foreign Exchange Future	Р	11.50 Sell	45,000	1,000	45,000,000.00	336.8200			15,156,900,000.00
\$ / R 17/09/2018 Foreign Exchange Future	Р	11.50 Sell	45,000	1,000	45,000,000.00	346.8200			15,606,900,000.00
\$ / R 17/09/2018 Foreign Exchange Future	Р	11.85 Sell	48,200	1,000	48,200,000.00	518.2100			24,977,722,000.00
\$ / R 17/09/2018 Foreign Exchange Future	Р	11.85 Sell	48,200	1,000	48,200,000.00	528.2100			25,459,722,000.00
	Total Futures		0		0.00				0.00
	Total Options		279,600		279,600,000				122,267,866,000.00
Total \$ / R Foreign Exchange Future			279,600		279,600,000.00				122,267,866,000.00
Total Futures			722,244		722,514,000.00				8 422 818 046.40
Total Options			666,730		666,730,000.00				266 378 034 600.00
Grand Total for Currency Future Detailed Turnover			1,388,974		1,389,244,000.00				274 800 852 646.40